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@ Find the equation of a line, in slope-intercept form. with slope —5 and y-intercept 2.

A y=—=x

B, y=-3x+2

C. x

-4x+3y =6

@ What is the slope of the line given by the equation?

A -4
B -4
c 3
5 4 @ Which of the following equations represents a vertical line?
A X=y
B X=4
(o y=-2
D y=x

Which of the following graphs represents the function x=-47
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What is the slope of this line?
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@ Find the equation of a line, in slope-intercept form, with slope —5 and v-intercept 2.

A v=- —%—_x—,?
3
(B) y=—5x+2
C. x=—5y+2
D y=—3x-2

—-4x+3y =6

@ What is the slope of the line given by the equation?
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Which of the followmg equations represents a vertical line?

A X=y
xX=4
C y=-2
D Y=X
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